

1.5 Διαφορά τετραγώνων

Τρίτη, 30 Νοεμβρίου 2021 5:11 μμ

$$(a - b)(a + b) = a^2 - b^2$$

$$\left[(a - b)(a + b) = a^2 + \cancel{ab} - \cancel{ab} - b^2 = a^2 - b^2 \right]$$

$$(x - y)(x + y) = x^2 - y^2$$

$$(x + y)(x - y) = x^2 - y^2$$

$$(x + y)(y - x) = - (x + y)(x - y) = - (x^2 - y^2) = y^2 - x^2$$

$$\begin{aligned} (x + y)(-x - y) &= - (x + y)(x + y) = - (x + y)^2 = \\ &= - (x^2 + 2xy + y^2) = -x^2 - 2xy - y^2 \end{aligned}$$

$$(x - y)(-x - y) = - (x - y)(x + y) = - (x^2 - y^2) = y^2 - x^2$$